NN WN =

N/A
N/A
N/A
N/A
N/A
N/A
N/A
N/A
N/A
N/A

. 60

MAT 220 (T2

Issue 10

Answer _Vey

45.
. 26
.11

-13 -
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87.
88.
89.
90.
91.
92.
93.
94.
95.

96.

97.
98.

MAT 220

56

38

200

120
28+14 =2
80+4 = 20
A

$2.00
3(30) = 15
3(15) =5
15-5=

1+2+43+4+5+6+7+8
= 4x9

=B
6x3 =18
12+6 =

(T2)

-14 -

Issue 10
99. 206 =3R2
3+1=
100. 5%50 = 250
101.8%80 = 640
102.4x7 = 28
103.34—-16 =18
104.39 - 27 = 12
105. 320 — (600 — 320)
= 640 — 600
=40
106.15
107.10-3 =

108.10 + 3 =[13]

109.7 +4 =11
20-11=9
11-9=[

110.65 + 18 +15=98
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84/100 = 21/25
88/100 = 22/25
92/100 = 23/25
96/100 = 24/25
6/100 = 3/50
4/100 = 4%
8/100 = 8%
12/100 = 12%
16/100 = 16%

. 20/100 = 20%

18
40
12
60
9
33 3 _

. %—; 73/7
625 5
18 3 _
2
15 1 _
=3 /3
2 -2 310
120 10

. 12 & 2 (Remainder)
. 480
. 1 & 8 (Remainder)

98

. 432

3332

MATP 230 (T2)

Anrswer _Vey

42. 75
43. 12
44. 45

Issue 10

51. 47 +52=99
52. D

53. 2

54. A

55. 410-240 =170
56. C

57. 410 -210 = 200
58. 21-3=18

59. 21-7-3=11
60. 8x12 =96

61. 43%2 =86 hrs
62. 3.50%x80 = 280
63. 42+7 = 6 cards
64. 900+2 =450

65. 60+2 =130
width = 10

66. 10x4 = 40

67. 100x2 = 200
68. 2x(8 + 10) = 36
69. 36+4 =9 in.

70. 9x9 = 81 sq. in.

71. 2009, 2010, 2011, 2012

4x100 = [40(]

72. 3x4 + 4x2 + 2x2 =24

44 24 =20

20+4 =

—11-
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73.

74.

75.

76.

MATP 230 (T2)

106, 106, 115, 151, 124, 142, 133
205, 250, 214, 241, 223, 232
304, 340, 313, 331, 322

403, 430, 412, 421

502, 520, 511

601, 610

700

1+2+43+...+7=P§

Each time he gives, the number of candies
decreases by 2.

15-6x2 =

8 is the largest 4-multiple less than 11.
8+4 = 2 (quotient)

2x%11 + 8 =30

1+ 2x(5+3+2+1)42 =3 +22 =25
33-25=38

8+2=E

Drafted by www.MathEnglish.com
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77.

78.

79.
80.

Issue 10

Since 1 point is taken off for omission or incorrect
answer, it gets 0 point essentially. A correct answer
receipt 1 point, so it gets 2 points essentially.

242 =12

20-12=

13+ 11 + 23 =[47]

33-24=
§X294 = 49 (seats)
49x2 = 98| (passengers)

M 230
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0.018
0.0032
0.054
0.036
0.36
0.056
0.0048
0.0048
0.081

. 0.0018
. 0.036

0.0025

. 0.0018

0.0015

. 0.018
. 0.0042
. 042

. 0.048
. 0.0054
. 0.024

900

. 0.84
. 0.88
. 092
. 096
. 0.06

MATP 250 (T2)

Answer Vey

. 84/100 = 21/25

-13 -

Issue 10

88/100 = 22/25

. 92/100 = 23/25

96/100 = 24/25

. 6/100 =3/50
. 84/100 = 84%
. 88/100 = 88%
. 92/100 = 92%
. 96/100 = 96%
. 6/100 = 6%
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58.

59.
60.

61.

62.

63.

64.

65.

66.

67.

68.

69.
70.
71.
72.
73.
74.
75.
76.
77.
78.
79.
80.
81.

82.

83.

84.

85.

MAT 250 (T2) lIssue 10
22 86. 1/112
012 LCD = 112
30
t % 87. 1/10
LCD =1
2x(3% + 8) = 23 1/2 (inches) ¢ 0
T e 88. 3/56
352 + 203 + 155 = 70——="71 3/8 (pounds) LCD = 56
4,5 _9_3 89. 1/4(=5/20)
24 24 24 8 LCD = 20
62
3% 4 90. 7/90(=14/180)
L 0% LCD = 180
70 91. Uno =7, Tom = 10, Sam = 20 (yrs old Sam)
Z 92, 8+8+8=24
16 _ 1
_ 5 16 93. 21-7-3=11yrsold
16 94. Kirk = 10 — 4 = 6 (4 years ago)
51 . Jake = 12 (4 years ago)
P=3= Jake = 16 (now)
35 95. (a) 112—_3 = 4 (Brandon)
6+G+i+H =6+ =72 (b) 5= =7 (Andy)
9 96. 12x2 =24
12 _ 11 24><§ = 16 (yrs old Tom)
+ 2 12
12 97. 12x3 +7 =43
15 98. Pamela will be 30 years old and Queen will be 10.
20_2_ 412 (a) 30 - 3 = 27 years old, Pamela
+ = 20 (b) 10 - 3 = 7 yrs old, Queen
21 99. Eden: 18 - 3 = 15 (present)
% _ o _ 3 15 -5 =10 (5 years ago)
_ 92 ~ 48 16 David:
48 10x2 = 20 (5 years ago)
19 20 + 5 = 25 (present)
65 25 + 3 = 28 (yrs old in 3 years, David)
1/81 100.24-6 = 18
18+2=9
1/64 9 - 3 = 6 years old (for both)
1/1024 _ —
101.1=10 and J = 30 (3 yrs ago)
1/8 (@) 10 + 3 = 13 (now Issac)
1/16 (b) 30 + 3 = 33 (now James)
1/32 102.P =18 and Q = 6 (in 3 yrs)
4/25 P = 168—33 = 15 (now Pamela)
= 6-3 =3 (now Queen)
8/125 Q 3 now Queen
16/625 103. 482 = 36 (Mark)
32/3125 104.18+3 = ¢ five years ago
6+ 5=11now
25/48_ 11 + 5 =16 (in 5 years)
LCD =48
7/24 105. 13&14&158&16&17 (increasing order)
LCD = 24 106. [Note: (D)o = 1,1;1)0@ =1
15/28 (hreeee =)= =1
LCD =28 107.70%(120) = 84
3/8 o
1CD =4 84+0.7 = 120
1/24 108.30%x%120 = 36
LCD = 24 109.72x§ = 60

-14 -
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110.10000X20% = 2000

10000 + 2000 = 12,000
111. 184+8 = 23 (miles)
112,105 = 3X5xX7

5%7 =35
113, () 36+§ = 36X2 = 45

D)

(b) 45+3 = 45x3% = 60 (G)
114.15

MATP 250 (T2)

-15 —

Issue 10
116.150/200 = % = 0.75 = 75%
117.4 = 0.25 = 25%
118.128+16 = 8 pints a gallon

576+8 = 72 gal
119.1 +20% = 1.2
3,000%1.2 = 3,600

120.5000%1.2 = 6000
or

6000-+-1.2 = 5000
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. X=5

10/7

. X=-5

X=4

. X=-2
. X=-15
. x=1

5a+2=3a-7
2a+2=-7
2a=-9
a=-9/2

5

. X=3

. 105+ 15=120
. 75

. 54+8=062

162 +21 =183

.70
. 480 + 60 = 540
.42
. 184
. 100

15

. 2\7
. 2330
. 414

N7

. 435

80

126
240
275

MATP 200 (T2

Issue 10

Anrswer _Vey

40.
. 1000000
. 0.008

44,

—-9_

288

125

. — =125/216

216
9 J—
= 9/64

49

S 49/64

.12

. 0.05
1

1=-11/5
1

. 33=31/3

iB: E:
Gp=22=210/27

. Ix12x12 =72

72+4 =18

18x6 =

1 gallon = 16 cups
16+% = 16><% = 12 pies

. 14 ft 63 in- 13 ft 103 in

=17 + 63 in
=73 in
=73/4in
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74.

75.

76.
77.

MATP 200 (T2

576+ 8 =72
72x5 = 360 gal

Sharon must have $50 more than Lindsey.

Sharon = $80.00
LCM(4, 6) = 12
8x16=128 oz

Drafted by www.MathEnglish.com

78.
79.
80.
81.
82.
83.

-10 -

Issue 10
1:30 + 4:20+ 3:00 = 8:50 pm
12:00 - 4:20 + 3:00 = 10:40 am
320x16 = 5120 oz
38+4 = 9.5 gal
15+8-2=-9
3(50°) = 25°

~




MATP 280 (T2

Issu¢

10

Anrswer _Vey

a) 5/4

b) 5

Qy=0G/HX+5

d) -4/5

e N:y +4=-4/5x-10)
M:y+4=5/4(x-10)

Dy =(4/5x+4

2) 8/5

b) 8

Oy=(@8/5%x+8

d)-5/8

) N:y +5=-5/8(x - 16)
M:y +5=8/5X — 16)

Hy=(5/8x+5

)3

b) 6

AQY=03X+6

d)-1/3

ON:y+1=-1/3Xx—06)
M:y+1=3(X-0)

Hy=(1/3)x+1

a) -4

b) 8

Y= (4x+8

d)1/4

O N:y-1=1/4(x—8)

M:y-1=-4(x-8)

fy=@1/49x-1
a) 3/2

b) 3

9y = (/2 +3
4 -2/3

Ny +2=-2/3(X-06)
My +2=3/2(X-0)
Hy=(2/3)x+2

2,1

-0.4,0.04

(2x + 5)2

(3x + 8)?

.9, (5X — 3)?
. 32,-144, 18
. 3,-24,25
. 27,-36,14

27,36, 11

. 27,54,17

3,3,-4,-37

. 3,5,2,-37

-11-

18.
. 3,5,-3,-21

. 3,2,-7,-138

. slope=3, y=3X+2

. slope=—4, y=—4X+3
. slope=2, y=2x—4

3,1,-7, 133

slope=-3/5, y—-intercept=6/5
. slope = 3 y—intercept=2.5
. 2X+3y=4

L= 3y =23

L 2X=6y=7

. 4X+3y=-8

. Itis already a standard form.
. (-6, 8)

(13,-7)

. (7/2,-3)

*-3)

. (0,2
.26
. 47
. 6\6
. 6\V15
. 20\2

. 625

5V10

. 7.5V13
. 917
.26

. 2.5V29
. 5734
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MATP 280 (T2) Issue 10

60. 7.5V41

-12 -
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